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* BHiE: BRINERFENETHES

B : 1/C(42,6) =1/5245786 =.000000190629
e AR : BRNERFPIABHEFFES  HARREE F=—8F
R : (C(6,5) C(36,1)/C(42.6)) x(1/36) =6/5245786 =.000001143775
s 25 BRNNERFPABHEFFES  HARATESLNEF
R : (C(6,5) C(36,1)/C42,6)) X (35/36) =210/5245786 =.000040032132
* B BRINERFHIE TS FHEs
xR : C(6,4) C(36,2)/C(42,6) =9450/5245786 =.001801446
s B BRNNERFPI=BFEFHES
BER - C(6,3) C(36.3)/C(42,6) = 142800/5245786 =.02722185
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(011111%), (*011111) =& 11
’ eea=(d)+(3)-(41(3) ()
13 =,00034293553
1 5 P LA (i)orA (j))=.51939666 x 10~
13 .S1=3SP (A (i),
.S2=SP(A(i)und A (j)).i<] 9
- HIST—S2=P (A (l)or..orA (n) &4 =51
- #5EP (A (1)or..orA(42) &4%)=.0144 29 39
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1 11
P 5 7 11
5 11
7
16'020000 P B2 M2 R
’ el m2E  mom
0.5 0.78694 0.85225 0.88653
16 1.0 0.63212 0.73576 0.79272
2,8,15,25,50,100 1.5 0.51791 0.64278 0.71444
1 1 2.0 0.43233 0.56767 0.64850
2.5 0.36717 0.50627 0.59248 o7l . 1,000
8,000 2 6
3.0 0.31674 0.45551 0.54449
108 &5 0.27709 0.41309 0.50306
4,000 4.0 0.24542 0.37729 0.46703
4.5 0.21975 0.34678 0.43548
5.0 0.19865 0.32054 0.40768
! 6 36 5.5 0.18108 0.29779 0.38302

6.0 0.16625 0.27792 0.36104
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WA : W7TTF2:00~4:00
e : MEMEEAETEE (SmPlUREE_HR=8)
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1 SHEITH (7%) ZIBE (BRERR) E FEREDRRERHEH

2 5H25H (%) BEE (RiffkkL) RN EHLE

3 67088 (7%) X (Al L) IHRE : ZRBEBNEE

4 68298 (7%) RER (MAEZRAR) A AN ERZRENE
EIHREN  THREZMNSEEE BGREN - R ABUMEYIN BRBHIA
GINER : NERTIM  ERLRAT (BB AN HREENT « NHER  RERCTESS

SEEDIAIE : hitp://www.ym.edu.tw/~hymutsen/speech
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